

DIRECTORATE of ADMISSIONS and COMPETITIVE EXAMINATIONS

University of Kashmir

NAAC Accredited Grade-'A+'

Selection Notification No.: 3 of 2023 PG Programmes (Distance Mode)

Consequent upon the seats which remains vacant due to non-completion of admission formalities by some candidates, the candidates whose particulars are mentioned below have been selected provisionally for admission to **below mentioned programmes** offered at University of Kashmir through Distance Mode purely on the basis of academic percentage obtained by them in the qualifying examinations for the session-2023.

Important Note:-

The Chairman of Departmental Admission Committee, shall ensure that all the selected candidates possess the minimum required eligibility and have passed their qualifying examination by or before 07-09-2023 / have category certificate (if selected under any reserved category) valid upto 07-09-2023 the same may be verified by the original documents/certificates of the candidate. No authority slip shall be issued by the Chairman of the Admission Committee to the candidate who aren't eligible and have passed his/her qualifying examination/ having category certificate issued after 07-09-2023.

The admission of the candidates is subject to:-

- 1. Production of all relevant original documents {Marks Card/s of qualifying examination, Domicile Certificate, Character and Provisional certificates of the Institution last attended, valid Reserved Category certificate (wherever applicable), Migration Certificate};
- 2. Production of eligibility cum revival of registration/migration form wherever applicable alongwith prescribed fee;
- 3. Fulfilling of minimum required eligibility conditions to be verified by the concerned Department;
- 4. Clearance be sought from the Academic Section in respect of candidates having qualified examination from private/affiliated Universities/Institutions;
- 5. Production of an affidavit sworn in before 1st Class Judicial/Executive Magistrate stating that:
 - o I am not on rolls of any Institution;
 - o All the submitted certificates/documents are genuine;
 - o I shall strictly adhere to the rules and regulations of the University in toto;
 - o I understand that in case of any misinformation or concealment of any information or indiscipline, my admission to the programme shall be cancelled and I shall be subjected to legal action;
 - o I submit this affidavit under free will without any pressure, compulsion, fraud or coercion.

The provisionally selected candidates shall download their online Admission Forms from official website of the University of Kashmir www.kashmiruniversity.net by entering their Application Form No. and before depositing the required Admission Fee, the selected candidates shall have to approach alongwith all the relevant original certificates and self attested Xerox copies of certificates/documents to the Director, Directorate of Distance Education, University of Kashmir for obtaining the authority slip for depositing the prescribed Fee reflected on the downloaded pay-in-slips from 26-09-2023 to 30-09-2023, after depositing the requisite fee, the fee receipt alongwith admission form and other related documents be submitted in the office of the respective Directorate by or before 30-09-2023. Please note that fee will be accepted by any FINACLE branch of J&K Bank only on production of authority slip from the concerned Director. Any provisionally selected candidate failing to complete the admission formalities upto 30-09-2023 shall forfeit his/her right to admission. The Director is hereby informed to kindly forward the vacancy list (if any) upto 05:15 PM on the last date prescribed for completion of admission related formalities.

Sr.	Form No.	Name	Parentage	Cat.	MM	MO	%age		
			MA Economics						
1	23651083	BASIT MUNWER LONE	MOHAMMAD MUNWER LONE	TZ	3550	2570	72.39		
2	23651051	NASEER AHMAD DAR	TARIQ AHMAD DAR		10	6.97	69.70		
3	23651084	AFSHAN SHOWKAT	SHOWKAT ALI MIR		10	6.66	66.60		
4	23651081	ODTAY DAMHA DAFHZI	ABDUL RASHID YATOO	RBA	10	6.5	65.00		
5	23651091	FAISAL NAZIR KOUL	NAZIR AHMAD KOUL		1800	1049	58.28		
	PSP								
1	23651069	TANVEER HUSSAIN	SYED ASSAIQ SHAH	PSP	10	6.73	67.30		
MA Education									
1	23651023	TABASUM SHAFI	MOHAMMAD SHAFI SHEIKH		10	7.75	77.50		
2	23651011	ARSHIDA AKHTER	GH AHMAD KUMAR		10	7.58	75.80		
3	23651024	NEETU KOUR	KULDEEP SINGH		10	7.5	75.00		
4	23651025	SUKHMEET KOUR	S SURINDER SINGH		10	7.5	75.00		
5	23651034	YOUNIS AHMAD SHEIKH	GULAM AHMAD SHEIKH		10	7.41	74.10		
6	23651009	ZEESHAN MAQBOOL	MOHMMAD MAQBOOL TANTRAY		10	7.39	73.90		
7	23651048	AASIA AKHTER	GH MOHAMMAD DAR		10	7.38	73.80		
8	23651020	UMAT UL BASEER	SHOWKAT AHMAD MAGREY	RBA	10	7.38	73.80		
9	23651016	AFREENA BASHIR	BASHIR AHMAD MATTOO		10	7.32	73.20		
10	23651092	ASIF AHMAD BHAT	GHULAM QADIR BHAT	ΠM	10	7.19	71.90		
11	23651054	MASOOMA MUZAFAR	MUZAFAR ALI BHAT	ΠM	100	71	71.00		
12	23651017	SABIYA SHABIR	SHABIR AHMAD KHAN		10	7.03	70.30		
13	23651035	SAMI AKHTER	MOHAMAD AKBAR SOFI	ΠM	10	6.91	69.10		
14	23651010	SUHAIL AHMAD RESHI	NAZIR AHMAD RESHI		10	6.85	68.50		
15	23651078	REHANA YOUSUF	MOHAMMAD YOUSUF SHEIKH	RBA	10	6.8	68.00		
16	23651080	TAHIRA AKHTER	MOHD ASHRAF KAMBAY	RBA	10	6.64	66.40		
17	23651068	BISMAH NISAR	NISAR AHMAD YATTO		10	6.57	65.70		
18	23651081	ODTAY DAMHA DAFHZI	ABDUL RASHID YATOO	RBA	10	6.5	65.00		
19	23651070	ZEENAT UL AIN	ABDUL GANI LONE	RBA	10	6.5	65.00		
20	23651047	ARBEENA BASHIR	BASHIR AHMAD BHAT		10	6.42	64.20		
21	23651033	SAKEENA BAND	MOHAMMAD AKBAR ALLIE		10	6.3	63.00		
22	23651067	TABI JAN	ABDUL REHMAN KHAN		10	6.2	62.00		
23	23651053	URFAT ASHFAQ	ASHFAQ AHMAD RESHI	ΩМ	10	5.83	58.30		
24	23651065	AAFREEN NAQASH	HZADAN NAZZAH DAMHDM		1800	1045	58.06		
25	23651055	JOUSI BASHIR	BASHIR AHMAD LONE	ΩМ	1800	1042	57.89		
26	23651064	ARSHEED HUSSAIN BHAT	ABDUL MAJEED BHAT		1800	903	50.17		

27	23651022	MOHD IQBAL MALA	KHAZIR MOHD MALA	RBA	1800	860	47.78		
28	23651045	SHAFIQ AHMAD	BASHIR AHMAD		1800	840	46.67		
MA English									
DM									
1	23651065	AAFREEN NAQASH	HZADAN NAZZAH DAMHOM		1800	1045	58.06		
MA Islamic Studies									
OM									
1	23651088	SAMI UL LAH BHAT	GHULAM MOHAMMAD BHAT		2220	1875	84.46		
2	23651089	TAHIR GULL	GHULAM MOHAMMAD ZARGAR		2220	1674	75.41		
3	23651012	SHEIKH UMAR RASHID	ABDUL RASHID SHEIKH		10	7.11	71.10		
4	23651082	NUZHAT MAJID BHAT	AB MAJID BHAT		10	7.01	70.10		
5	23651039	SAIRA JAN	BHADUR WANI		2600	1789	68.81		
6	23651077	SAIKA FAROOQ SOFI	FAROOQ AHMAD SOFI		10	6.77	67.70		
7	23651013	SHEERAZ NAZIR KUMHAR	NAZIR AHMAD KUMHAR		10	6.48	64.80		
8	23651050	UZMA REHMAN	ABDUL REHMAN WANI	RBA	10	6.39	63.90		
9	23651033	SAKEENA BAND	MOHAMMAD AKBAR ALLIE		10	6.3	63.00		
10	23651075	SAQIB JAVID MIR	JAVID AHMAD MIR		5630	3249	57.71		
11	23651032	ARSHAD HUSSAIN GANIE	MOHD AKBAR GANIE		1800	872	48.44		
			PSP	,					
1	23651030	DARAKSHAN PARVAIZ	PARVAIZ AHMAD BHAT	PSP	1800	1138	63.22		
MA/M Sc Mathematics									
		T	DM	1			Г		
1	23651085	MEHNAZ SHAH	AFTAB AHMAD SHAH		2000	1627	81.35		
2	23651031	RUHEE FARODQ	FAROOQ AHMAD SHEIKH	RBA	3600	2870	79.72		
3	23651076	SUBREEN SHAFI	MOHD SHAFI BABA	CDP	10	7.97	79.70		
4	23651044	MOHMAD HARIS BHAT	GHULAM AHMAD BHAT		10	7.27	72.70		
5	23651086	ISHFAQ AHMED HAJAM	GHULAM HASSAN HAJAM	WUP	1800	1208	67.11		
6	23651056	ADIL RASOOL GANIE	GHULAM RASOOL GANIE	RBA	10	6.48	64.80		
7	23651059	WASEEM RAJA	ABDUL RASHID MALIK		8325	5082	61.05		
8	23651079	JUNAID BASHIR	BASHIR AHMAD SHAH		1800	1040	57.78		
9	23651014	MOHD MUSTAFA SOFI	MOHD ZAMAN SOFI		1800	979	54.39		
10	23651049	MUKHTAR AHMAD TAK	AB AZIZ TAK		1800	976	54.22		
11	23651052	NAYEEMA HUSSAIN	MOHAMMAD HUSSAIN MIR		1800	927	51.50		
MA Urdu									
OM									
1	23651073	JAVAID AHMAD GOORSI	GH NABI GOORSI	TZ	1800	1212	67.33		
2	23651033	SAKEENA BAND	MOHAMMAD AKBAR ALLIE		10	6.3	63.00		
3	23651043	SABIYA RASHID	AB RASHID AHANGER		10	5.89	58.90		

M Com								
1	23651042	BISMA	MOHAMMAD ISHAQ RATHER		10	7.74	77.40	
2	23651066	SAFWAAN MEHRAJ	MEHRAJ UD DINRATHER		10	6.9	69.00	
3	23651074	AQUIB HUSSAIN WANI	BASHIR AHMAD WANI	ΠM	10	6.83	68.30	
4	23651063	ALLIYA BASHIR	BASHIR AHMAD DAR		10	6	60.00	
5	23651060	AYASH MANZOOR	MANZOOR AHMAD DAR	ΩМ	3700	2106	56.92	

No.F3 (Selection List 3 PG-DDE) DACE/KU/23

Dated:- 25-09-2023

Sd/(Prof. M Farooq Mir)
Director
(Directorate of Admissions &
Competitive Examinations)